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Seat No:______________       Enrollment No:______________ 

PARUL UNIVERSITY 
FACULTY OF MANAGEMENT 

BBA Winter - 2019 - 20 Examination 
Semester: 2         Date: 09/12/2019 
Subject Code: 06101153        Time: 10:30 am to 1:00 pm 
Subject Name: Growth and Structure of Industries     Total Marks: 60 
Instructions 
1. All questions are compulsory. 
2. Figures to the right indicate full marks.  
3. Make suitable assumptions wherever necessary. 
4. Start new question on new page. 
 

Q.1 Do as Directed.  
     A). Multiple choice type questions/Fill in the blanks.    (Each of 1 mark)  (05) 

 1. Who out of the following is associated with the theory of industrial location  
 
 
 a) John M Keynes 

  
c) Adam Smith  

  b) Alfred Weber d) Pigou  

 

2. Small-scale industries are, in most cases, not as efficient and competitive as the large-scale 
ones. Yet the government provides preferential treatment and reservations in a range of 
products to small firms because they 

1. Provide higher employment on a unit of capital 
2. Promote a regional dispersion of industries and economic activities 
3. Have performed better in export af manufactures products than the large-scale ones 
4. Provide jobs to low-skill workers, who otherwise may not find employment avenues 

elsewhere. 

Which of the statements given above is/are correct?  
 

 

  a) 1 and 4 b) 2 and 3  
  c) 1 and 2 d) 3 and 4  

 
3. In which among the following years, a new “Liberalized Industrial Policy” in India was 

announced for the first time? 
 

  a) 1986  b) 1991  
  c) 1992 d) 1993  
 4. In the industrial policy 1991, which of the industries are reserved for public sector? 

  
               

 
 
  

               
 

 

 
  a) Railways b) Coal  
  c) Automobiles d) Iron and steel  
 5. Name the institution which was set up in 1982 to promote integrated rural development  
  a) NABARD c) NSIC  
  b) SIDBI d) NCEUS  

B). Define the following.  (Each of 1 mark) (05) 
 1. MRTP  
 2. PSU  
 3. Industrial Location  
 4. NSIC  
 5. Industrial Estates  

C). Direct questions.  (Each of 1 mark) (05) 
 1.What do you mean by SSI?  
 2.What do you mean by Industrialization?  
 3. List down two causes of industrial sickness  
 4. How many public sector units are there till date?  
 5. Mention two characteristics of small scale industries  
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Q.2 Answer the following questions.  

A). What according to you are the factors hampering industrialization in India (07) 

B). Discuss the problems of private sector in detail. 
 
 

(08) 
    

Q.3 Answer the following questions.  

A).  What do you mean by SSIs? Discuss the important and problems associated with them in Indian 
Economy. (07) 

B). Mention the provision of industrial policy after 1991 reforms (08) 
   

Q.4 Attempt any two questions.   (Each of 7.5  mark) (15) 
1  List out various financial institution of India and explain one out of them with the reasons.  
2  Discuss the Weber’s theory of location with the help of diagram.  
3 Discuss the significance of industrialization in India in brief.  

4 Give your view about the problems of energy in our country and also as a responsible citizen of 
India methods to resolve problems of energy.  

 


